Procurement & Warehousing Services

**Broward County Public Schools** 

### **RECOMMENDATION TABULATION**

Select One #:	18-046B	Tentative Board Meetin	g Date*: Noven	nber 7, 2017	
Select One Title:	CAN LINER AND COMPACTOR BAGS	# Notified:	428	# Downloaded:	40
		# of Responses Rec'd:	13	# of "No Bids":	1
For:	MATERIAL LOGISTICS	Select One Opening Date :	August 16, 2017		
Fund:	(School/Department) WAREHOUSE INVENTORY BUDGET	Advertised Date:	July 18, 2017		

**POSTING OF Select One RECOMMENDATION/TABULATION:** Select One Recommendations and Tabulations will be posted in the Procurement & Warehousing Services and www.Demandstar.com on **OCTOBER 3, 2017 @ 3:00 pm** and will remain posted for 72 hours. Any person who is adversely affected by the decision or intended decision shall file a notice of protest, in writing, within 72 hours after the posting of the notice of decision or intended decision shall be filed within ten (10) days after the date the notice of protest is filed. Failure to file a notice of protest or failure to file a formal written protest shall constitute a waiver of proceedings under this chapter. Section 120.57(3)(b), Florida Statutes, states that "The formal written protest shall state with particularity the facts and law upon which the protest is based." Saturdays, Sundays, state holidays and days during which the District is closed shall be excluded in the computation of the 72-hour time period provided. Filings shall be at the office of the Director of Procurement & Warehousing Services, 7720 West Oakland Park Boulevard, Suite 323, Sunrise, Florida 33351. Any person who files an action protesting an intended decision shall post with the School Board, at the time of filing the formal written protest, a bond, payable to The School Board of Broward County, Florida, (SBBC), in an amount equal to one percent (1%) of the estimated value of the contract. Failure to post the bond required by SBBC Policy 3320, Part VIII, Purchasing Policies, Section N, within the time allowed for filing a bond shall constitute a waiver of the right to protest.

(\*) The Cone of Silence, as stated in the ITB / RFP / RFQ / HARD BID, is in effect until it is approved by SBBC. The Board meeting date stated above is tentative. Confirm with the Purchasing Agent of record for the actual date the Cone of Silence has concluded.

#### **RECOMMENDATION TABULATION**

VENDOR NAME(S)	ITEM(S) AWARDED
ALL AMERICAN POLY CORP.	PRIMARY: 3 ALTERNATE: 4
CENTRAL POLY-BAG CORP.	PRIMARY: 4 ALTERNATE: 3
INTERBORO PACKAGING CORPORATION	PRIMARY: 2
*OLIVE BRANCH PRODUCTS AND PACKAGING, INC. M/WBE: AFICAN-AMERICAN	ALTERNATE: 1
*RSD MAJESTIC SUPPLY COMPANY OF SOUTH FLORIDA, INC. M/WBE:WHITE FEMALE	PRIMARY: 1 ALTERNATE: 2

\* CERTIFIED MINORITY/WOMEN BUSINESS ENTERPRISE

RECOMMEND THE AWARD BE MADE TO THE BIDDERS LISTED ABOVE. THE LOW BIDDER WILL BE THE SCHOOL BOARD'S PRIMARY VENDOR. IF THE LOW BIDDER IS UNABLE TO MEET THE BID REQUIREMENTS, THE ALTERNATE VENDOR WILL BE UTILIZED.

IT IS RECOMMENDED THAT FOR REASONS STATED ON THE ATTACHED BID REJECTION SHEET, THE BIDS AS STATED, EITHER IN THEIR ENTIRETY OR FOR THE PARTICULAR ITEM (S) LISTED, BE REJECTED FOR NOT COMPLYING WITH BID REQUIREMENTS.

CONTRACT PERIOD: JANUARY 1, 2018 THROUGH DECEMBER 31, 2020

Larissa Seda (Purchasing Agent) By: Date:

e: OCTOBER 2, 2017

The School Board of Broward County, Florida, prohibits any policy or procedure which results in discrimination on the basis of age, color, disability, gender expression, national origin, marital status, race, religion, sex or sexual orientation. Individuals who wish to file a discrimination complaint, may call the Executive Director, Benefits & EEO Compliance at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.

Individuals with disabilities requesting accommodations under the Americans with Disabilities Act (ADA) may call the Equal Educational Opportunities (EEO) at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.

#### Bid No.: 18-046B Can Liners and Compactor Bags Rejection Sheet

Reject bid from Fordion Packaging, Ltd. Bidder did not submit, with their bid, the complete and executed Legal Opinion of Bidder's Preference Form. As per Special Condition 5- Bidding Preference Laws: "Failure to submit and execute this form, with the bid, shall result in bid being considered "non-responsive" and bid rejected."

Item 1

Reject Bid from Calico Industrial Supply of Florida, LLC. The brand/model submitted by the bidder does not meet specifications. The sample and descriptive literature for the bags offered by the bidder are .31 mil but the bid specifies for the bags to be .35 mil. as per Section 6- Bid Specifications.

Item 2

Reject Bid from Olive Branch Products and Packaging, Inc. The brand/model submitted by the bidder does not meet specifications. The sample and descriptive literature for the bags offered by the bidder are 2.0 mil but the bid specifies for the bags to be .35 mil. as per Section 6- Bid Specifications.

×.	THE SCHOOL BOARD OF BROWARD C	OUNTY, FLO	ORIDA			All American Po	ly Corp			
	BID TABULATION SHE	ET				Piscataway				
ltem	Description	Quantity	QuantityUnit(For OrderingTotal Cost PerCost PerCostQuantityUnitPurposes Only)CaseBagBag					it of State cost per ag (+5%)	AWARD	
1	Can Liner, Light Duty, 10 Gallons, Flat	25,000	case	\$	31.38	\$ 784,500.00	\$ 0.031380	\$	0.03295	
2	Can Liner, Light Duty, 10 Gallons, Star Seal	25,000	case	\$	38.79	\$ 969,750.00	\$ 0.038790	\$	0.04073	
3	Can Liner, Medium Duty, 33 Gallons, Flat Seal	4,000	case	\$	28.13	\$ 112,520.00	\$ 0.112520	\$	0.11815	Р
4	Compactor Bags-Flat Seal	2,400	case	\$	15.72	\$ 37,728.00	\$ 0.314400	\$	0.33012	A
Award L										
	P= Primary Awardee									
	A= Alternate Awardee									
PROCUR CUSTOD BIDS RE PRUCUR RECOMM	KS: FT WAS APPROVED BY: LARISSA SEDA, PURCHAS REMENT & WAREHOUSING SERVICES, BEN OSBOR HAL SUPERVISORS, CUSTODIAL AND GROUNDS DE CEIVED WERE EVALUATED BY: LARISSA SEDA, PU REMENT & WAREHOUSEING SERVICES MEND THE AWARD BE MADE TO THE ABOVE LOW E CATIONS TERMS AND CONDITIONS.	NE AND GERA EPARTMENT JRCHASING AC	GENT,							

X	THE SCHOOL BOARD OF BROWARD C	OUNTY, FLO	ORIDA		Iorid	a Paper, LLC		
	BID TABULATION SHE	ET				lley, FL		I
ltem	Description	Quantity	Unit	Cost Per Case (For Ordering Purposes Only)	То	otal Cost Per Case	Cost Per Bag	AWARD
1	Can Liner, Light Duty, 10 Gallons, Flat	25,000	case	\$ 15.69	\$	392,250.00	\$ 0.01569	
2	Can Liner, Light Duty, 10 Gallons, Star Seal	25,000	case	\$ 15.69	\$	392,250.00	\$ 0.01569	
3	Can Liner, Medium Duty, 33 Gallons, Flat Seal	4,000	case	\$ 13.40	\$	53,600.00	\$ 0.13400	
4	Compactor Bags-Flat Seal	2,400	case	\$ 26.24	\$	62,976.00	\$ 0.52480	
Award L								
	P= Primary Awardee							
	A= Alternate Awardee							
PROCUF CUSTOE BIDS RE PRUCUF RECOM	EXKS: NFT WAS APPROVED BY: LARISSA SEDA, PURCHAS REMENT & WAREHOUSING SERVICES, BEN OSBOR DIAL SUPERVISORS, CUSTODIAL AND GROUNDS DE ECEIVED WERE EVALUATED BY: LARISSA SEDA, PU REMENT & WAREHOUSEING SERVICES MEND THE AWARD BE MADE TO THE ABOVE LOW E CATIONS TERMS AND CONDITIONS.	NE AND GERA EPARTMENT JRCHASING AC	GENT,					

Ă	THE SCHOOL BOARD OF BROWARD C	OUNTY, FLO	ORIDA	C	alico Indust	rial	Supply of Flo	vrid	2110	
	BID TABULATION SHE	ET					gwood, FL		a, LLC	
ltem	Description	Quantity	Unit	(Fo	at Per Case r Ordering poses Only)	Тс	otal Cost Per Case	C	Cost Per Bag	AWARD
1	Can Liner, Light Duty, 10 Gallons, Flat	25,000	case	\$	12.94	\$	323,500.00	\$	0.01294	
2	Can Liner, Light Duty, 10 Gallons, Star Seal	25,000	case	\$	20.24	\$	506,000.00	\$	0.02024	
3	Can Liner, Medium Duty, 33 Gallons, Flat Seal	4,000	case	\$	32.14	\$	128,560.00	\$	0.12856	
4	Compactor Bags-Flat Seal	2,400	case	\$	17.44	\$	41,856.00	\$	0.34880	
Award L										
	P= Primary Awardee									
	A= Alternate Awardee									
PROCUF	<b>KS:</b> FT WAS APPROVED BY: LARISSA SEDA, PURCHAS REMENT & WAREHOUSING SERVICES, BEN OSBOR MAL SUPERVISORS, CUSTODIAL AND GROUNDS DI	NE AND GERA	LD DEVIO,							
	CEIVED WERE EVALUATED BY: LARISSA SEDA, PU REMENT & WAREHOUSEING SERVICES	JRCHASING AC	GENT,							
	MEND THE AWARD BE MADE TO THE ABOVE LOW E CATIONS TERMS AND CONDITIONS.	BIDDER(S) MEE	TING							

X	THE SCHOOL BOARD OF BROWARD C	OUNTY, FLO	ORIDA		Central Poly-Bag	Corp			
	BID TABULATION SHE	ET			Linden, NJ	•			
ltem	Description	Quantity	Unit	Cost Per Case (For Ordering Purposes Only)	Total Cost Per Case	Cost Per Bag	(+5%	of State 5) Cost Bag	AWARD
1	Can Liner, Light Duty, 10 Gallons, Flat	25,000	case	\$ 15.80	\$ 395,000.00	\$0.01580	\$ 0	0.01659	
2	Can Liner, Light Duty, 10 Gallons, Star Seal	25,000	case	\$ 16.00	\$ 400,000.00	\$0.01600	\$ 0	0.01680	
3	Can Liner, Medium Duty, 33 Gallons, Flat Seal	4,000	case	\$ 28.60	\$ 114,400.00	\$0.11440	\$ C	).12012	A
4	Compactor Bags-Flat Seal	2,400	case	\$ 15.00	\$ 36,000.00	\$0.30000	\$0	.31500	Р
Award L	egend:								
	P= Primary Awardee								
	A= Alternate Awardee								
PROCUF CUSTOE BIDS RE PRUCUF RECOM	KS: FT WAS APPROVED BY: LARISSA SEDA, PURCHAS REMENT & WAREHOUSING SERVICES, BEN OSBOR DIAL SUPERVISORS, CUSTODIAL AND GROUNDS DE CEIVED WERE EVALUATED BY: LARISSA SEDA, PU REMENT & WAREHOUSEING SERVICES MEND THE AWARD BE MADE TO THE ABOVE LOW E CATIONS TERMS AND CONDITIONS.	NE AND GERA EPARTMENT JRCHASING AC	GENT,						
		אטטעא(S) MEE							

è	THE SCHOOL BOARD OF BROWARD C	OUNTY, FLO	ORIDA		Dyna-Pak Corp	oration		
	BID TABULATION SHE	ET			Lawrencebu			
ltem	Description	Quantity	Unit	Cost Per Case (For Ordering Purposes Only)	Total Cost Per Case	Cost Per Bag	Out of State (+5%) Cost per Bag	AWARD
1	Can Liner, Light Duty, 10 Gallons, Flat	25,000	case	NO BID	NO BID	NO BID	NO BID	
2	Can Liner, Light Duty, 10 Gallons, Star Seal	25,000	case	NO BID	NO BID	NO BID	NO BID	
3	Can Liner, Medium Duty, 33 Gallons, Flat Seal	4,000	case	\$ 33.75	\$ 135,000.00	\$0.13500	\$ 0.14175	
4	Compactor Bags-Flat Seal	2,400	case	\$ 17.75	\$ 42,600.00	\$0.35500	\$ 0.37275	
Award L	egend:							
	P= Primary Awardee							
	A= Alternate Awardee							
PROCUF	<b>KS:</b> FT WAS APPROVED BY: LARISSA SEDA, PURCHAS REMENT & WAREHOUSING SERVICES, BEN OSBOR IIAL SUPERVISORS, CUSTODIAL AND GROUNDS DE	NE AND GERA	LD DEVIO,					
	CEIVED WERE EVALUATED BY: LARISSA SEDA, PU EMENT & WAREHOUSEING SERVICES	JRCHASING AC	GENT,					
	IEND THE AWARD BE MADE TO THE ABOVE LOW E CATIONS TERMS AND CONDITIONS.	BIDDER(S) MEE	TING					

×	THE SCHOOL BOARD OF BROWARD C	OUNTY, FLO	ORIDA				perial Dade			
	BID TABULATION SHE	ET								
ltem	Description	Quantity	Unit	(Fo	st Per Case or Ordering poses Only)	То	tal Cost Per Case	Cost Per Bag		AWARD
1	Can Liner, Light Duty, 10 Gallons, Flat	25,000	case		NO BID		NO BID		NO BID	
2	Can Liner, Light Duty, 10 Gallons, Star Seal	25,000	case		NO BID		NO BID		NO BID	
3	Can Liner, Medium Duty, 33 Gallons, Flat Seal	4,000	case	\$	44.16	\$	176,640.00	\$	0.17664	
4	Compactor Bags-Flat Seal	2,400	case	\$	30.43	\$	73,032.00	\$	0.60860	
Award L										
	P= Primary Awardee									
	A= Alternate Awardee									
PROCUF CUSTOE BIDS RE PRUCUF RECOM	KS: FT WAS APPROVED BY: LARISSA SEDA, PURCHAS REMENT & WAREHOUSING SERVICES, BEN OSBOR DIAL SUPERVISORS, CUSTODIAL AND GROUNDS DE CEIVED WERE EVALUATED BY: LARISSA SEDA, PU REMENT & WAREHOUSEING SERVICES MEND THE AWARD BE MADE TO THE ABOVE LOW E CATIONS TERMS AND CONDITIONS.	NE AND GERA EPARTMENT JRCHASING AC	GENT,							

è	THE SCHOOL BOARD OF BROWARD O BID TABULATION SHE		ORIDA		ORIDA Interboro Packaging Corporation Montgomery, NY							
Item	Description	Quantity	Unit	(For	Per Case Ordering oses Only)		otal Cost Per Case		st Per Bag	Out of State (+5%) Cost per Bag		AWARD
1	Can Liner, Light Duty, 10 Gallons, Flat	25,000	case	\$	13.72	\$	343,000.00	\$	0.01372	\$	0.01441	
2	Can Liner, Light Duty, 10 Gallons, Star Seal	25,000	case	\$	12.98	\$	324,500.00	\$	0.01298	\$	0.01363	Р
3	Can Liner, Medium Duty, 33 Gallons, Flat Seal	4,000	case	\$	31.72	\$	126,880.00	\$	0.12688	\$	0.13322	
4	Compactor Bags-Flat Seal	2,400	case	\$	18.18	\$	43,632.00	\$	0.36360	\$	0.38178	
Award L	agandi											
	P= Primary Awardee											
	A= Alternate Awardee											
PROCUR CUSTOD BIDS RE PRUCUR RECOMM	KS: FT WAS APPROVED BY: LARISSA SEDA, PURCHAS REMENT & WAREHOUSING SERVICES, BEN OSBOR DIAL SUPERVISORS, CUSTODIAL AND GROUNDS DI CEIVED WERE EVALUATED BY: LARISSA SEDA, PU REMENT & WAREHOUSEING SERVICES MEND THE AWARD BE MADE TO THE ABOVE LOW I CATIONS TERMS AND CONDITIONS.	NE AND GERA EPARTMENT JRCHASING AG	GENT,									

	THE SCHOOL BOARD OF BROWARD O	OUNTY, FLO	ORIDA							
	BID TABULATION SHE	ET				ranch Product Itana, FL (SBB				
ltem	Description	Quantity	Unit	(For	Per Case Ordering ses Only)	Total Cost Per Case	Bid Cost Per Bag	M/WBE Incentive Multiplier	M/WBE Cost per Bag	AWARD
1	Can Liner, Light Duty, 10 Gallons, Flat	25,000	case	\$	15.84	\$396,000.00	\$0.01584	0.90	0.01426	Α
2	Can Liner, Light Duty, 10 Gallons, Star Seal	25,000	case	\$	15.84	\$396,000.00	\$0.01584	0.90	0.01426	
3	Can Liner, Medium Duty, 33 Gallons, Flat Seal	4,000	case	\$	42.58	\$170,320.00	\$0.17032	0.90	0.15329	
4	Compactor Bags-Flat Seal	2,400	case	\$	24.91	\$ 59,784.00	\$0.49820	0.90	0.44838	
Award L										
	P= Primary Awardee									
	A= Alternate Awardee									
				_						
PROCUF CUSTOD	KS: FT WAS APPROVED BY: LARISSA SEDA, PURCHAS REMENT & WAREHOUSING SERVICES, BEN OSBOR MAL SUPERVISORS, CUSTODIAL AND GROUNDS DI CEIVED WERE EVALUATED BY: LARISSA SEDA, PU	NE AND GERA EPARTMENT								
PRUCUR	REMENT & WAREHOUSEING SERVICES									
	MEND THE AWARD BE MADE TO THE ABOVE LOW E CATIONS TERMS AND CONDITIONS.	SIDDER(S) MEE	IING							
							1			

X	THE SCHOOL BOARD OF BROWARD C	OUNTY, FLO	ORIDA							
	BID TABULATION SHE	ET			-	estic Supply C Davie, FL (SBB			nc.	
ltem	Description	Quantity	Unit	(For	Per Case Ordering oses Only)	Total Cost Per Case	Cost Per Bag	M/WBE Incentive Multiplier	M/WBE Cost per Bag	AWARD
1	Can Liner, Light Duty, 10 Gallons, Flat	25,000	case	\$	15.44	\$ 386,000.00	\$0.01544	0.90	\$ 0.01390	Р
2	Can Liner, Light Duty, 10 Gallons, Star Seal	25,000	case	\$	15.44	\$ 386,000.00	\$0.01544	0.90	\$ 0.01390	A
3	Can Liner, Medium Duty, 33 Gallons, Flat Seal	4,000	case	\$	34.25	\$ 137,000.00	\$0.13700	0.90	\$ 0.12330	
4	Compactor Bags-Flat Seal	2,400	case	\$	27.50	\$ 66,000.00	\$0.55000	0.90	\$ 0.49500	
Award L	<u> </u>									
	P= Primary Awardee									
	A= Alternate Awardee									
PROCUF	<b>KS:</b> FT WAS APPROVED BY: LARISSA SEDA, PURCHAS REMENT & WAREHOUSING SERVICES, BEN OSBOR MAL SUPERVISORS, CUSTODIAL AND GROUNDS DE	NE AND GERA	LD DEVIO,							
	CEIVED WERE EVALUATED BY: LARISSA SEDA, PU REMENT & WAREHOUSEING SERVICES	JRCHASING AC	GENT,							
	MEND THE AWARD BE MADE TO THE ABOVE LOW E CATIONS TERMS AND CONDITIONS.	BIDDER(S) MEE	ETING							
<u> </u>				1		1	1	1		

à	THE SCHOOL BOARD OF BROWARD C	OUNTY, FLO	ORIDA		Southeasterr	ı Pa	per Group of	FL. I	Inc.	
	BID TABULATION SHE	ET								
ltem	Description	Quantity	Unit		Per Case (For ring Purposes Only)	То	tal Cost Per Case	Cos	st Per Bag	AWARD
1	Can Liner, Light Duty, 10 Gallons, Flat	25,000	case	\$	7.83	\$	195,750.00	\$	0.01566	
2	Can Liner, Light Duty, 10 Gallons, Star Seal	25,000	case	\$	7.83	\$	195,750.00	\$	0.01566	
3	Can Liner, Medium Duty, 33 Gallons, Flat Seal	4,000	case	\$	16.52	\$	66,080.00	\$	0.16520	
4	Compactor Bags-Flat Seal	2,400	case	\$	26.12	\$	62,688.00	\$	0.52240	
Award L	_egend:									
	P= Primary Awardee									
	A= Alternate Awardee									
PROCUF CUSTOD BIDS RE PRUCUF	KS: AFT WAS APPROVED BY: LARISSA SEDA, PURCHAS REMENT & WAREHOUSING SERVICES, BEN OSBOR DIAL SUPERVISORS, CUSTODIAL AND GROUNDS DE ECEIVED WERE EVALUATED BY: LARISSA SEDA, PU REMENT & WAREHOUSEING SERVICES MEND THE AWARD BE MADE TO THE ABOVE LOW E CATIONS TERMS AND CONDITIONS.	NE AND GERA EPARTMENT JRCHASING AC	GENT,							

è	THE SCHOOL BOARD OF BROWARD COUNTY, FLORIDA			The Office Cart, LLC Fort Lauderdale, FL (SBBC M/WBE)						
	BID TABULATION SHE									
ltem	Description	Quantity	Unit	Cost Per ( (For Orde Purposes (	ring	Total Cost Per Case	Cost Per Bag	M/WBE Incentive Multiplier	M/WBE Cost per Bag	AWARD
1	Can Liner, Light Duty, 10 Gallons, Flat	25,000	case	\$	20.97	\$ 524,250.00	\$ 0.02168	0.90	\$0.01951	
2	Can Liner, Light Duty, 10 Gallons, Star Seal	25,000	case	\$	23.97	\$ 599,250.00	\$ 0.29963	0.90	\$0.26966	
3	Can Liner, Medium Duty, 33 Gallons, Flat Seal	4,000	case	\$	29.95	\$ 119,800.00	\$ 0.59994	0.90	\$0.53995	
4	Compactor Bags-Flat Seal	2,400	case	\$	25.51	\$ 61,224.00	\$ 0.51020	0.90	\$0.45918	
Award L	0									
	P= Primary Awardee									
	A= Alternate Awardee									
PROCUR CUSTOD BIDS RE PRUCUR RECOMM	KS: FT WAS APPROVED BY: LARISSA SEDA, PURCHAS EMENT & WAREHOUSING SERVICES, BEN OSBOR IAL SUPERVISORS, CUSTODIAL AND GROUNDS DE CEIVED WERE EVALUATED BY: LARISSA SEDA, PL EMENT & WAREHOUSEING SERVICES MEND THE AWARD BE MADE TO THE ABOVE LOW E CATIONS TERMS AND CONDITIONS.	NE AND GERA PARTMENT JRCHASING A	GENT,							

X	THE SCHOOL BOARD OF BROWARD C	X-L Plastics, Inc.							
	BID TABULATION SHE	Clifton, NJ							
ltem	Description	Quantity	Unit	Cost Per Case (For Ordering Purposes Only)	Total Cost Per Case	Cost Per Bag	Out of State (+5%) Cost per Bag	AWARD	
1	Can Liner, Light Duty, 10 Gallons, Flat	25,000	case	NO BID	NO BID	NO BID	NO BID		
2	Can Liner, Light Duty, 10 Gallons, Star Seal	25,000	case	NO BID	NO BID NO BID		NO BID		
3	Can Liner, Medium Duty, 33 Gallons, Flat Seal	4,000	case	\$ 31.51	\$ 126,040.00	\$ 0.13404	\$ 0.14074		
4	Compactor Bags-Flat Seal	2,400	case	\$ 17.86	\$ 42,864.00	\$ 0.35720	\$ 0.37506		
Award L	egend:								
	P= Primary Awardee								
	A= Alternate Awardee								
REMARKS: BID DRAFT WAS APPROVED BY: LARISSA SEDA, PURCHASING AGENT, PROCUREMENT & WAREHOUSING SERVICES, BEN OSBORNE AND GERALD DEVIO, CUSTODIAL SUPERVISORS, CUSTODIAL AND GROUNDS DEPARTMENT									
	CEIVED WERE EVALUATED BY: LARISSA SEDA, PL REMENT & WAREHOUSEING SERVICES								
	IEND THE AWARD BE MADE TO THE ABOVE LOW E CATIONS TERMS AND CONDITIONS.								
				<u> </u>					